WALT: What is Settlement Hierarchy?
WILFS:

L3 - List the Settlement Hierarchy

L4 - Describe the Settlement Hierarchy

L5 - Explain the differences.










◊ A _______________ is a place that is usually large enough to have a church, a primary school, and a shop.
◊ A _______________ is a huge built-up area that has many millions of people. It is likely to have several universities, a regional shopping centre and an international airport.
◊ A _______________ is a settlement large enough to have at least one secondary school. It is likely to have bus and railway stations, leisure centre, a hospital and its own town hall.
◊ _______________ are a small cluster of houses. It doesn’t have any services such as a church, a school.
◊ A _______________ is a very large settlement, with excellent road and rail links. It probably has a cathedral and a university, as well as many shops selling luxury goods such as jewellery and expensive clothes.
Village – Capital City – City – Town – Hamlets
Complete the table below to give you three named examples of each type of settlement:

	Type Of Settlement
	Three Examples Of Each Type Of Settlement

	Capital City
	Greater London
	
	

	City
	Sheffield
	
	

	Town
	
	
	

	Village
	
	
	

	Hamlet
	
	
	


KEY WORDS





Settlement – A collection of Dwellings


Site – A place where a settlement first grew


Function - Why the settlement grew.





Mainly urban settlements (densely-populated areas)





Mainly rural               settlement (densely-populated areas)








